Go to Insert/Equation/Insert New Equation. 
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Our first example will have some subscripts and superscripts, which can be found under Equation/Design/Script. It provides you with boxes which you can enter the desired text into. 
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Make sure you use the arrow keys to get out of the subscript box (changes from blue to white) when you are done with the subscript and ready to type something that is not a subscript. 

Next you can get a fraction by going to Equation/Design/Fraction 
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You can find superscripts in the same place as subscripts. (There is also a choice for a combination if needed.)
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The above is the equation for the position as a function of time in the case of a constant acceleration. A similar equation uses Equation Tools/Design/ Symbols to obtain the Greek letters (theta, omega, and alpha).  
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If you are adding up a bunch of numbers (like the story about Gauss when he was a child), the formula uses the symbol capital sigma, but there is a special place for this symbol because it is used differently from other symbols. Go to Equation Tools/Design/Large Operator. 
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The following formula (related to the so-called Gaussian distribution, normal distribution or Bell curve) used Integral, a Script within a Script, a Fraction, a Radical, and a Symbol. 
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Make the six equations shown next. 
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